OA Summary

2-minute Quick Response Section: 10

Math Section: word problems/tricky "math riddles"

Writing Section/ Logic Section: ask you to correct grammar mistakes, analogies and puzzles.
Programming and Learning: each you some basic concepts of a language and you answer
questions based on their mini-lessons/examples, and extra 4 coding.

OhF 15 5 5 >0 BB SE A T A MR S e 4R E, 7 (E1507)

(Epic OA LIyl LLEI JT4A. . 45 R A hf, HISE 7 — D2/

(B, BT B string, H0E0/2 number, ISR, Bk A REARIE 28 B E RN)
(FEITH IR M ATHE M LTI #E T, SR B r A s M _ B E]. )

Learning:
1. MIS: RAFAH, MSEER A 17—, 167 1 AN, 10RO A% WAL B4 T3 (1+2*3=9),

A onull 2240 (BF—IE-%F]), S A R AK allocate, (SJ =1, N=10), K [k free, (K J)-

a. ®ENEH ™ ENESE
Given an expression like 3*4+8-9 (only +,-,*operators) as a string evaluate it strictly from
left to right

b. ARSI HURRTEESE 1 B KAy, L, 1A2B = 1, 1.A3,1.3ABC 4 L2 1,
A45=0,-1.2=-1,null =0

c. False LA &R

d. A'5uEFEH, Haks !, PEEREErFE G20, ‘A=0,"1A=0,"1=0;
( means not. It converts a character to null in a string but converts the character to 0 in an
operation

1=John, 2=Jane, 3=Does, “123"=?, Jane3Does was the closest answer. It seemed wrong
because of the 3 in there.)
(‘5 means null whereas ‘5+1=1, which one of these is true? Cannot recall the options; they
all appeared false. | put the last option, but couldn’t figure it out. ‘("5)=07?)
e. True &7~ N rubout, False F£75A null 5.
f. %HUEIZFEFTARRN# HALAA
(Several problems used the # symbol defined as the remainder 4/3=1, one question asked
% another %2 and another had 0/0, you had to know not only modulo but whether it is
usable for a normal fraction)
g. AR, S, K=FAR
R BEHIE 74T
S WULHCKIE, Sas1"a=1 il sl & string 2 int
K kill K A A ANINRRTE R 7107, e I & R R agoR s 1
K() W2 ERER 1 385 BRI A 717
Ka it 2isks a
(Holy water is concatenated by "Holy”. “Water” or "Holy”. “Water” Watch the space, How
would you spell “Holy Water” given “Holy’=God and HOH="Water”. (1)God.HOH
(2)God.”.HOH (3)God”."HOH (4)Forgot others.)

Math:
1. Note: Dime(10 cents)

D) B. How many minutes is it before 6pm, when 30 minutes ago, it is 4 times the amount of time

after 4pm: #2 66
(How many minutes before Spm is it if 30 mins ago it was four times as many minutes after
3pm: 48) 66
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[#2}
- from 4pm to 6pm is 120 minutes 
- 30 minutes ago, the time until 6pm was 4 times the minutes after 4pm. 
- Y is time from now to 6pm 
- Z is time after 4pm (30 minutes ago) 
- 120 = 4Z+Z = 5Z 
	so Z=24 and 4Z = 96 
	Y+30 = 4Z = 96 
	Y = 96 - 30 = 66 
- it is **66** minutes before 6 (or 4:54 but this question does not have to do with time of day)
- (30+x) * 5/4 = 120


)

(How many minutes before 5:00 PM would it be if 50 minutes ago, it was four times as many
minutes since 3 PM: 46)

(IAE PR T IS [H) 2 50min 2 BT PR S 3 U [ 4 1%, ) BAE R & T 0H 220 min)

3. 2.5 AWK 2.5 BB 2.5 K 1] 10 N 5 Rk /b2

4. 6, -18, 72, -360216@ -1 2 -6 24 -120 720?

Programming (http:/blog.csdn.net/Isdtc1225/article/details/39949367)

1.

**Anagram
Enumerate all possible anagrams of a random string where capital letters, numbers, and
symbols are not allowed to move within the string.
(Version1. anagrams ¥ A\ —~> String, 1. KEFEEAREA /NG 2.K5 FBEa#H HAh 7R/ A7 EA
B 3ARAET 0-9. 4. /NS T anagrams.)
(Version2. Anagrams A PU/MJEN]: 1. Character case ANAEZE (AANBEAE @) . 2. HA/NERE
¥al (KEMEFRIT S AN E) « 3. HrAEmA. 4. BT . o SZ&)afmt i
JE 244 anagrams. )
(Version3. ANREMIAEY (GXAME validate input) , SR )5 BEAIHAN 75 467 B A28, permutate
=ESS))
(Version4. Anagram [, ZRKEFEAHZ), &A% 72 invalid input. - . )
(Given a string. symbols, capital letter and numbers cannot move, print all anagrams.)
(Related) **Permutation
Get a string (word) from user, then make every possible permutation words. Ex. Input: tree
Output: tree, rett, rete, reet, etre, eetr, eert, eter, eret, teer, reet...
(Given a password in number: write an algorithm to print all possible combinations of that
password.
Hint: try from to go from all possible combinations of lower bound to the valid upper bounds.)
***Colorful Number Il
If given a number find a number if it is colorful. A number is said to be colorful if all its possible
unique permutations multiplication result different. EX. If n=1234 then permutations are
(1,2),(1,3),(1,4),(2,3),(2,4),(3,4),(1,2,3),(1,2,4),(2,3,4). That’s it, no other combination and if any
of them repeats then number is not colorful.
(Find if given set of elements 2, 4, 3 form a colorful number?)
***Cards Play
54 kR, Bk I 1-9, A-E & —ANF + —A> Letter, i 3D, 4F, 5A, 7C; H —> string i\,
H—/ program FREE 4 kL 1 2 4, WK1 4 letter —FE, EFF P 29K, FEEBTE
15 8 245 45k, WRAR4, number —Ff, 45KETAE, WHE LKA number
—Ff, A letter —FF, 1522 | 5 5 B 4 5K, FLE first card Al last card ,  f[FIFEH)
FilE, oA, print You Win, WRT-HUARIRE, print You lose MEHN 4G 41k
B gt B, WREFAR, WEERE RFREEE, ZPEey 25k, W i
By &HANE, index #1234 55K card; i —HERF: ERAEZEM index #l HFT TR
1,2,3,4;
(A —HEIR, 4R AD™8A X, UIHEE 1 5K 4 sk 8E—REG, Sl sE 1, 2,
3, 45K, RJEHECE HUER T RS 1 sKRANGE 4 5K AR B FER TR RS 2, 3 TR,
SN LT R ORI 28 1 5K ANEE 4 5K WiZRER 1 5k AEE 4 5K ECA A A BRI —FER S, At
PRCSE 2 5RANEE 5 9k — BN, WAA R TR, SIS )
(B — skl 2 th e A BEAL R« ELn“4D”,"8E"
2R — LB, BRI Y 5K .
S AR — 5k 2 2 DY 5K

66
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[#3]
(10/2.5)people * (5/2.5)days * 2.5trees
= 20 trees
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2160

720
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[#2}
- (50+x) * 5/4 = 120    =>    x = 46


AR — KA DY SR B REAR ], ) g rp R B Yok (3 kA8 =5K) .«

U SR — SR DY SR B AR ], DY 5K A 2 4

ISR BRI ER AR, Tl 58 — 5k 3058 ok

ARG Ja AR T, B Rk 1, WERIEA R, %)

(AR, A 54 5kRg, MR E TR’ W“1A, 2B, 3C, 4D, 5F, 6B, 7D”. MUNE, MAH

A, WA R—H, XA, RS — ARG — DB AR, IR VYRR, an 2
REAR A A P R P R T . REOCORAE T BR TR KT IR . an SR KA BRE T — > 4
skhg, BIan“1A, 2B, 3C, 4D” BA KR, #iE“2B, 3C, 4D, 5F” LAk, SRR T
A RS —5k T ah . B, WSRBESESE 7, print “You win” else print “You lose” and
number of remained cards.)

(Related) *Reduction:

(I —/> numeric string, & LB EIELZ T, HEEMBEAGES ANIE. Ex: 1000034435
-> 1335 -> 15)

(55— R4 — String, BREAKEH . String TS HEE 7. BoRE AN String BLARE
HIESMFEIF) TR . tbin abbac, JGiE+E bb, FiH# aa, i /5 NiZiR Al ¢)

(ZHE K 100444555 2 2K)

. "*Word Search Il (where’s waldorf)

Find the presence of a given word in a given grid, word can be matched in any direction up-
down, down-up, left-right, right-left, both diagonals up and down etc.

(Word Search, 3k )\/NJ7lal, 5 leetcode JF BUARALL)

(45— matrix, &> grid B Z&— letter, #8545 —> word, #iX/> word J& A& 7EIX A
matrix L, WEORIRBIFAT ENAAR, 8 N7 [ #RE K )
http://www.careercup.com/question?id=13126665

. **Char Frequency

PRI IE HAZ B BUBFATED, &2 R A S5 hashmap Giit Sl i ] hashset i £ 17T
B2 HE I

(%4 string HL45> character 1 ILEL,  $& H BT T HK.)

(R 55 B e A B BRI R, SRS 420 ex. "My mom s a

teacher" "a:1i:1 m:2 t:1" KMk 2 x4 = E)

(Common character, 8 string B[ ) 5 =i 5 1) A5 AR AIRAR ) 775 HLAf . )

. (AN 1 8 ]) There are 2 roommates. Each one prepares a list for grocery store.
Make a combined list without any duplicates.

(PP B LR EE . o o XDEIRER, #h 7—HEEL-B/ VR R, 3 747 Lk
AWAEE. )

(Cheater: given 2 sorted arrays, each of them only contains 7 elements, each element is a digit
number (0-9). combine them, remove duplicate, return a new sorted array.(/N X8 4 X iE
@Y cheater))

(B, FRETEAERAEMNEES], XHE BRG] AL E s 7 B R R, JRERA
FJRME T =="KMH A — Mk, WAL, BN AHEANORId2ZHARFIS, Raeik
—PANH, HYAERDANOEK T EHCBRTIS, &E—A list, BEWADNURTIARNAES
WFH T, FEHEZATH, BAZMNA array, BT EIE, RAKZ string”. $h78 R4
TR E AT list #52 sorted, BT LAE FE EHEIRATHL S 41E int i 7, w2 ZMIpRE
HINFHLS, 285 combine 7£—jft)

. *Number Triangle

Given an array {{4,7,3,6,7}}

Construct a triangle like

{{81}}



10.

11.

12.
13.

{{40, 413}

{21, 19, 223

{11, 10, 9, 13}

{4, 7, 3, 6, 7%

(4% ex. 5, 6, 23, 45, j&[f:

5, 6, 23, 45
11, 29, 68
40, 97

137)

*Alpha and Arabic: BN 7R N — P07 A —H 7R, IS RELG S BN /N, R
T P2 S AR R F 5 IS T AR N . ex. CAB: =14 -1+ 4 =-11  CBA: 14+4+1 =16
(HE— PR, 4 MER A1 B-13C-110 . - » REHHHAEHNE, HUBEEGRTH
AT B, KT 1E% ex. CBA 110+13+1 =124 ABC -1-13+110=96)
typing finger B, 4R T8 73 7% N AN [R] 7B I 18
(BNTFHRREILNFEE A)E input JLDT45, KT A, )
Related: Keypad Permutations
“KEE—FH120H, BT ZH, A MG 31 Ko —F1E leap year HII /2 30 X, A
7= leap year [FJI {52 29 K. leap year PRI WiAR#E 2 FHnT AL 4 %8Bk, {22 W RELREW
200 B[4, (HAREMY 1000 R KI4EA A leap year, L 1400 A4 leap year, {H 2000 #2 leap
year. FLEZGE —HY (mm/ddlyy), Az H B2 S 6E1%, Raga BEXA BT —4
leap day, BJ) 02/30/xx. MarsCalender
(124 H, BH#Z 30K, KA Leapyear )2 & 31 K. &fk—> date, Fth F—+
Leap day.)
(A MR EIR—F 12D H, 8§ 30K, HE2 H 31K, FEFERFMAERERT 200, (HiE
ABEERJS 400 1, BrAEREFIETFRS 1000, 1) @2 5 A 45 5 “MM/DD/YY YY" ) 1 valid /A)
[Calendar Il gReIated”
(If jan 1 2011 is Tuesday then what will be the name of the day for march 6 2064 and print
that.)
(Find no. of days between Jan 1%t and entered date)
Write a program to generate all palindrome dates by taking the beginning and ending dates as
an input from the user. The format of the date is given as MMDDYYYY.
(Palindrome date: a date is said to be a palindrome when it is expressed in MMDDYYYY
format, it reads the same both ways. Given 2 years as input (ex. 2000, 2010), print out all the
dates which are palindrome dates.)
(Given a year, print the calendar (all dates).)
(Convert date from mmddyy to words)
*Text shift. #1—Eti% M horizontal 7 R4 FR N vertical 22K
Given a horizontal array of strings convert it to vertical. Like English characters are read left to
right. Convert them to Chinese format which is read vertically.
Ex.
Epic is a healthcare Company.
Interviewing for software developer.
Print this vertically sentence by sentence.
R =MIETRERE, 6, 9, 200 SR DN, HRE T RGP e N 4L Fill Basket
*Jump Chess Il
N*N matrix, find the longest ways for each players.

Players: red and blue.

Players can jump to the next position based on the opposite player, after jump, remove the
opposite player.



MarsCalender

Fill Basket


14.

15.

16.

(jump game —~ matrix _EJifF 0,1,2. 0 8% empty, 1/%% player 1 55 T IXM&E T, 210%
player . jump FFEI 2 R BE horizontal B¢ vertical, FHAR IS XS J5 AL T, BEEIG 5 #L T
1 —1, Bk BuaET . ol

01011

02002

00102

00000

mlO][1]H & HhE RagE Fek—2, A m2][118% 1 96, &5 E &K T path 1) length. )
(Related) *Jump Chess

**TAEIOU (Gibberize String)
Taking string as an input from user. After taking, consider A,a,e,E,l,1,0,0,u,U, if these letters
appear in the string... then replace them with A*, a* .e* ,EA I i* , oM ,O” ,u”? UM Leave the
' iqi from the starting of the string.

N

Embedded Password:
57 string Whe 7 0F, 3B AR A TRk
a. BKIEN, 2N, 3N, 4N ... fi B B EE,  EE| NA2;
b. BTG KA TEE at least 3 Ju i T B
c. W odd length, H A AR 75 A G
W even length , /] 2 A~ F5 A& same Ji%, 1 HIAI uppercase or lowercase
d. FAFARE first, last 75 uppercase)
(BT @:| Assonance. | KE & —A String BLATA 765 3k 1 53R R —,  FoAth 5 1m] iF A
A5, Hin%m A "my apple has another enough work soccer engineer”, it st /&"my apple
another has enough engineer work soccer", T a kPN EIE — a kM5, elilo/u
W, HAFAR IR e P AR . R — R BN R A R, split — T RZ
S, )
(M —A~ String FLHELH index A 1IN, 2N, 3N ... N*N [ 5F, cEty, A ILABRE &M,
a. B MNEE-NTFERRE,
b. /=" vowel, INX 7 k/N5,
c. WIERMRIIE M odd, AN FREL AN vowel,
d. WERRMEE, FEMHEA N vowel. HEHTEIHFFEKFFZR/FE . Bl
zzzAEzzazPzazziWzzzCzzzzAzz, if N=4, %ty AaaW, N=5, #Hiitiy EPICA)
(LAHT 3 I R AHE . 25—, $BRAREE BRI AN B T B AP R A, 2 . index
N, 1N, 2N, .... N*N (N A\ 4 FF45) M FFBUH A 75, HRpX AN E R Ie R E2 M6 —
IR 1. S5 — MR E — NP ARG 6. 2. &0 EA 3N TETFE, A RN, 3
RITH R K275, AP F RS AU TS . 4. WERKE 2 EE, PR
e R T E . WF R LR SFAFTEN oK. far T EAE AT 4 457 5 R BT A 455 & 2 R I LR Y
TR . Blin. zzzAEzzazPzazzlwzzzCzzzzAzz, N 7] DLZET 4 (AaaW) W A] DAZET
5(EPICA), {HR2AREET 6 1, FINFERRERA 6%6 IAK)
*Tic tac toe Il
N*N matrix, two users: X and O. If 3 respective marks together (no matter: vertical, horizontal,
diagonal) will win 1 point; for user X, 6 respective marks together will win 3 points; For user O,

8 respective marks together will win 6 points, check who win.
(**Tic Tac Tree)

Free Piece
ARV A2 VR A AT AL, RAERE 7 — R, A N AN R0 S SR 5Ok iy, A AU Ak ] DA il {6 42 [
Fo MIN—ADTYERERE, ORI TAL, 1R H ORI T, 2R F1. SREHF1Z 71 5 0




17.

18.

19.

20.

21.

22.

FEREMUE B, AREX AL, AT, REEX TR capture”. 1Ak —AN RifE
“capture” i X PR TR 45,

(related: Snake Sequence) o

(N*N matrix, find the longest ways for each players. Players: Red and Blue. Players can jump
to the next position based on the opposite player, after jump, remove the opposite player.)
g, M int 2, RIEEAHPERIT X R, REHIETR reverse 2
kK, 7. 1234567890 [3,4,2,1] %t & 890-4567-23-1 SplitNumber

Broken Number: #3254k, 05— MR N DN,  PIASBOREREE — AN 00 22 i /NI 25 4T ED
k. (HZFRAN RN T 28 AN Ex. 3—M0& 10958 25 A4 1000, 10 + 958
=968 X/~ Eitrl LA, {Hi2 1095 + 8 = 1103 g AR LA T

(Similar Fibbonaci Number)

Given start and end integer as user input, generate all integers with the following property.
Example:

123, 1+2=3, valid number

121224, 12+12=24, valid number

1235 1+2=3, 2+3=5, valid

125 1+2<5, invalid

Snake Game |l

Find longest increasing sub sequence in 2d array.

Finding length of snake in snake game

The sequence must not be diagonally. (top-bottom, bottom-left-top...)

Increasing means one step

Ex:

10, 11, 12, 13 (correct)

12, 14, 15, 20 (wrong)

Ex. Consider 4*4 grid

2 345

4 51011

206 9 12

6 7 8 40

Output: 456789101112

*(Version 2 Seed Num) seed X PRl — AR A2 W A4 /M BTG FEl, LLin seed multiply fif— & 52
sqrt(N) 2 N/2 Z [E IR E (N>4)

Z T A seed sum, A LLIX 4 k407

1% N=seed+seedSum, seedSum & seed %M %72 A1 (Lhin 2+4+5)

A4 seedSum ZHIEHIF L an =174 seedSum <= 9+9+9=27

PL N=256 A, seedSum <= 27 , [fij seed = N-seedSum /& it seed >= 256-27=229
Wwatedl 229 LN EEIAHFERE T OV A T Reik 2] 256

int 2 RA 10 7 2w FA 10T LA iteration %l 7E 90 LAY

TN AX AR, o IR IE

DIRTE AR EGEENR, SRR, « « KEAEEN: DEE, §-fiEyys, o
DU TS NN B3, 1 B A A% 2L i) N OSCR O T IS Gl . XX AR 2800 7AW 4, 38
W ARSI, EA WIS MR A (you) B (bing) KL - &AM ElE, R A REik$E a A—A
NZEH, b Wt AR, RIEERESA4NES (M4 , ZEIFE T —RE.
S NEE T RN NERGEM 72188, Gtk 7 —A matrix,  45€ — IR RI%& G2
Z5%Y, ER@mWHSESRE, SAWERELE 7. 208, FEX XA matrix KR
HR KRG T . o BERERLZ, X4 matrix A7 RERLENN, B—FIEKZ A


???

SplitNumber


&, element WEZVRERI N SHE, AR EEm, mE-1. 207, B4 MAS
5, —3t 504, attendee 2 ZHEE L ULIE, matrix 41 -

ROUND1 1-3

ROUND2 1-4, 2-3 (f&44;3)

ROUND 3 2-3

ROUND 4 4-3

ROUND 4 2-4 (f£4e454)

WrdER G, fLHFERN (2, 3, 4) .
SSSSSSSSSSSSS55555>5>55>SSSS>SS>SOPTIONALSSSSSSSS>>>>S>S>555555>555555>>>>

23. Multiplicative iteration. Assume letters are A=1, B=2...The number N=4 then A=1*4=4. If result
is greater than 26 than mod 26. Input a string and give an encrypted result as output.

24. Write a function which takes an input for a double dimensional matrix. Each page is 1000
pixels wide and 1000 pixels high. A black pixel is represented by 1 and a white pixel by 0.
Return an answer set of array of row numbers for appropriate page breaks. A page break
would ideally be a row with all white pixels. If the page break is encountered more 1000 rows
from the last break then the page break should be forcefully taken 1000 rows from the last
break.

25.We have ‘n’ patient and ‘m’ problems. The problems are of Boolean type. Ex. Diabetes
problem would be ‘T’ if a patient has it or ‘F’ otherwise. Suggest the data structure you would
store this scenario on?

Q: we have a set of problems {diabetes, liver disease, kidney disease} find all the patients who
have at least the 3 problems from the set.

The number of patients can be huge (n).

The number of problems not comparatively huge (m).

Which would be the best data structure to store these kind of records, so that we have a better
search time.

26.Given a 2 dimensional point of a rectangle and its area, find permutations of all the other 3
points of rectangle in 2D space
Ex.

Given (0, 0)
Solution (0, 1), (1, 0), (1, 1)...

27.Glitch is a walking robot moves in a peculiar problem: it takes x steps forward, then x+1 steps
backward, then 2x steps forward, x+2 steps backward, 3x steps forward x+3 steps backward,
and so on... until it has taken by steps, glitch turns 180 degrees before continuing with its
pattern. Write a program that prompts x and y and total number of steps taken and outputs
how many steps away from its starting point.

28.1n a company, there are 3 categories A, B, C. they want to give an increment. So if Category C
gets N% as increment. Category B gets 2N% as increment and category A gets 3N% as
increment. But the increment should be at least 1% and the total updates salary should not
exceed $50,000.

Print the increment and the total updated salary for a particular employee.
Assume all the required variables.

29. Write a software to print triangle made of *s. Given the height and width of Triangles in terms

of number of stars. Like to output:

*



*%

*k%*

Given u have to use 3 stars or the height is 3 stars.

30.Given a number, check whether it is equal to its sum of its factors or not (excluding the number
itself).

31.Write a random number generator that takes as an argument number n and returns the
random number between 0 and n, any use of library random function is forbidden.

32.Convert Binary Tree to Binary Search Tree

33.Please write a function that accepts a floating number and returns its square root. You may not
use built-in square root function from your language. However, basic operators like addition,
subtraction, multiplication are allowed. Please take into consideration the floating precision.

34.Convert String into new string ex. "abcD”->"cdeF” and “pIxY” -> “rnzA”;

35.3-sum closest



